

## Research Article

### CUBIC DIOPHANTINE EQUATION WITH FIVE UNKNOWNNS

$$(X^3 + Y^3) - (Z^3 + W^3) = 39(X + Y)T^2$$

**\*M.A. Gopalan<sup>1</sup>, B. Sivakami<sup>2</sup>, and R. Bhavani<sup>3</sup>**

<sup>1</sup>Department of Mathematics, Shrimati Indira Gandhi College, Trichy-620002, Tamilnadu, India

<sup>2</sup>Department of Mathematics, Chettinad College of Engineering and Technology, Karur-639 114, Tamilnadu, India

<sup>3</sup>Department of Mathematics, Shrimati Indira Gandhi College, Trichy-620002, Tamilnadu, India

\*Author for Correspondence

#### ABSTRACT

The cubic equation  $(X^3 + Y^3) - (Z^3 + W^3) = 39(X + Y)T^2$  is analyzed for its patterns of non-zero integer solutions. Four patterns of solutions are illustrated. A few properties among the solutions are presented.

**Keywords:** Cubic Equation with Five Unknowns, Integral solutions

**MSC 2010 subject classification:** 11D25

#### INTRODUCTION

Integral solutions for the homogeneous or non-homogeneous Diophantine cubic equation is an interesting concept as it can be seen from (Dickson, 1952; Carmichael, 1959; Mordell, 1969). In (Gopalan and Premalatha, 2009; Gopalan and Pandichelvi, 2010; Gopalan and Sivagami, 2010; Gopalan and Premalatha, 2010; Gopalan and Kalingarani, 2010; Gopalan and Premalatha, 2010; Gopalan *et al.*, 2012) a few special cases of cubic Diophantine equations with 4 unknowns are studied. In (Gopalan *et al.*, 2012; Gopalan *et al.*, 2013; Gopalan *et al.*, 2014) cubic equations cubic with 5 unknowns are studied for their integral solutions.

This communication concerns with yet another cubic Diophantine equation with five unknowns  $(X^3 + Y^3) - (W^3 + Z^3) = 39(X + Y)T^2$

#### NOTATIONS:

$T_{m,n}$  - Polygonal number of rank n with size m

$Pr_n$  - Pronic number of rank n

$Ct_n$  - Centered square number

#### METHOD OF ANALYSIS

The cubic Diophantine equation with five unknowns to be solved is given by

$$(X^3 + Y^3) - (W^3 + Z^3) = 39(X + Y)T^2 \quad (1)$$

The substitution of the linear transformations

$$X = u + v, Y = u - v, Z = u + p, W = u - p \quad (2)$$

in (1) leads to

$$v^2 = p^2 + 13T^2 \quad (3)$$

(3) is solved through different approaches and the different patterns of solutions of (1) obtained are presented below.

#### Pattern I:

Equation (3) can be written as

### Research Article

$$v^2 - p^2 = 13T^2 \quad (4)$$

Factorizing (4), we get

$$(v + p)(v - p) = 13T \cdot T \quad (5)$$

which is equivalent to the system of double equations,

$$\left. \begin{aligned} vB + pB - 13TA &= 0 \\ TB - vA + pA &= 0 \end{aligned} \right\} \quad (6)$$

Applying the method of cross multiplication, we get

$$v = -13A^2 + AB$$

$$p = -14AB$$

$$T = -B^2 - AB$$

Substituting the above values in (2), the corresponding solutions are,

$$X = X(u, A, B) = u - 13A^2 + AB$$

$$Y = Y(u, A, B) = u + 13A^2 - AB$$

$$Z = Z(u, A, B) = u - 14AB$$

$$W = W(u, A, B) = u + 14AB$$

$$T = T(A, B) = -B^2 - AB$$

### Pattern II:

Instead of (3), write as

$$v^2 - p^2 = 13T^2 \quad (7)$$

Factorizing (7), we get

$$(v + p)(v - p) = 13T \cdot T \quad (8)$$

which is equivalent to the system of double equations,

$$\left. \begin{aligned} vB + pB - TA &= 0 \\ 13TB - vA + pA &= 0 \end{aligned} \right\} \quad (9)$$

Applying the method of cross multiplication, we get

$$v = -A^2 + AB$$

$$p = -14AB$$

$$T = -13B^2 - AB$$

Substituting the above values in (2), the corresponding solutions are,

$$X = X(u, A, B) = u - A^2 + AB$$

$$Y = Y(u, A, B) = u + A^2 - AB$$

$$Z = Z(u, A, B) = u - 14AB$$

$$W = W(u, A, B) = u + 14AB$$

$$T = T(A, B) = -13B^2 - AB$$

### Pattern III:

Equation (3) can be written as

$$v^2 - 13T^2 = p^2 \cdot 1 \quad (10)$$

$$\text{Assume } p = a^2 - 13b^2 \quad (11)$$

Write 1 as

### Research Article

$$1 = \frac{(7 + \sqrt{13})(7 - \sqrt{13})}{36} \quad (12)$$

Substituting (11) and a (12) in (10) and employing the method of factorization, define

$$v + \sqrt{13}T = (a + \sqrt{13}b)^2 \frac{(7 + \sqrt{13})}{6}$$

Equating rational and irrational factors, we get

$$\left. \begin{aligned} v &= \frac{1}{6}[7a^2 + 91b^2 + 26ab] \\ T &= \frac{1}{6}[a^2 + 13b^2 + 14ab] \end{aligned} \right\} \quad (13)$$

As our interest is on finding integer solutions, we choose A and B suitably so that the values of v, T and p are in integers.

Replacing A by 6A and B by 6B in (11) and (13), the corresponding integer solutions of (3) in two parameters are

$$X = X(u, A, B) = u + 42A^2 + 546B^2 + 156AB$$

$$Y = Y(u, A, B) = u - 42A^2 - 546B^2 - 156AB$$

$$Z = Z(u, A, B) = u + A^2 - 13B^2$$

$$W = W(u, A, B) = u - A^2 + 13B^2$$

$$T = T(A, B) = 6A^2 + 78B^2 + 84AB$$

**Properties:**

- $X(u, 1, B) - Z(u, 1, B) - 84T_{4,A} \equiv 0 \pmod{2}$
- $Z(u, A, 1) - W(u, A, 1) - Ct_{4,A} \equiv -1 \pmod{2}$
- $T(A, 1) - T_{14,A} \equiv 11A \pmod{39}$
- $Z(u, 1, B) - Y(u, 1, B) - 533Pr_B \equiv 2B \pmod{3}$
- $Z(u, 1, B) - W(u, 1, B) + 26T_{4,B} \equiv 0 \pmod{2}$

**Pattern IV:**

Instead of (3), write as

$$p^2 + 13T^2 = v^2 * 1 \quad (14)$$

$$\text{Assume } p = a^2 + 13b^2 \quad (15)$$

Write 1 as

$$1 = \frac{(6 + i\sqrt{13})(6 - i\sqrt{13})}{49} \quad (16)$$

Substituting (15) and (16) in (14) and employing the method of factorization, define

$$p + \sqrt{13}T = (a + i\sqrt{13}b)^2 \frac{(6 + i\sqrt{13})}{7}$$

Equating real and imaginary parts, we get

## Research Article

$$\left. \begin{aligned} p &= \frac{1}{7}[6a^2 - 78b^2 - 26ab] \\ T &= \frac{1}{7}[a^2 - 13b^2 + 12ab] \end{aligned} \right\} \quad (17)$$

As our interest is on finding integer solutions, we choose A and B suitably so that the values of v, T and p are in integers.

Replacing A by 7A and B by 7B in (15) and (17), the corresponding integer solutions of (3) in two parameters are

$$X = X(u, A, B) = u + A^2 + 13B^2$$

$$Y = Y(u, A, B) = u - A^2 - 13B^2$$

$$Z = Z(u, A, B) = u + 42A^2 - 546B^2 - 182AB$$

$$W = W(u, A, B) = u - 7A^2 + 91B^2 - 84AB$$

$$T = T(A, B) = 7A^2 - 91B^2 + 84AB$$

**Properties:**

- $X(u, 1, B) - Y(u, 1, B) - T_{54, B} \equiv 2 \pmod{25}$
- $X(u, B + 1, B) - W(u, B + 1, B) + 35T_{6, B} - 168T_{3, B} \equiv 8 \pmod{19}$
- $Z(u, A, A + 1) - W(u, A, A + 1) + 1372T_{3, A} \equiv 1 \pmod{2}$
- $T(A, 1) - T_{16, A} \equiv -1 \pmod{3}$
- $Z(u, A, 1) - T_{86, A} \equiv 0 \pmod{3}$

## CONCLUSION

In this paper, we have presented four patterns of the non-zero distinct integer solutions of the homogeneous Diophantine cubic equation given by  $(X^3 + Y^3) - (Z^3 + W^3) = 39(X + Y)T^2$ . To conclude, one may search for other patterns of solution and their corresponding properties.

## REFERENCES

- Carmichael RD (1959).** *The Theory of Numbers and Diophantine Analysis* (NewYork, Douer).
- Dickson LE (1952).** *History of Theory of Numbers* (Chelsea Publishing company, NewYork) **2**.
- Gopalan MA and Kalingarani J (2010).** Integral solutions of  $x^3 + y^3 + (x + y)xy = z^3 + w^3 + (z + w)zw$ . *Bulletin of Pure and Applied Sciences* **29E**(1) 169-173.
- Gopalan MA and Premalatha S (2010).** Integral solutions of  $(x + y)(xy + w^2) = 2(k + 1)z^3$ . *The Global Journal of Mathematics and Mathematical sciences* **3**(1-2) 51-55.
- Gopalan MA and Pandichelvi V (2010).** Remarkable Solutions on the Cubic Equation with four unknowns  $x^3 + y^3 + z^3 = 28(x + y + z)w^2$ . *Antarctica Journal of Mathematics* **4**(4) 393-401.
- Gopalan MA and Premalatha S (2009).** Integral Solutions of  $(x + y)(xy + w^2) = 2(k^2 + 1)z^3$ . *Bulletin of Pure and Applied Sciences* **28E**(2) 197-202.
- Gopalan MA and Premalatha S (2010).** On the cubic Diophantine equations with four unknowns  $(x - y)(xy - w^2) = 2(n^2 + 2n)z^3$ . *International Journal of Mathematical Sciences* **9**(1-2) 171-175.

### Research Article

**Gopalan MA and Sivagami B (2010).** Integral Solutions of Homogeneous cubic equations with four unknowns  $x^3 + y^3 + z^3 = 3xyz + 2(x + y)w^3$  *Impact Journal of Science and Technology* **4**(4) 393-401.

**Gopalan MA, Vidhyalakshmi S and Kavitha A (2014).** Observations on the homogeneous cubic equations with four unknowns  $(x + y)(2x^2 + 2y^2 - 3xy) = (k^2 + 7)zw^2$ . *Bessel Journal of Mathematics* **4**(1) 1-6.

**Gopalan MA, Vidhyalakshmi S and Malika S (2013).** Integral points on the cubic equation with five unknowns  $x^3 + y^3 = z^3 + w^3 + 6t^2$ . *Diophantus Journal of Mathematics* **2**(1) 39-46.

**Gopalan MA, Vidhyalakshmi S and Usharani TR (2012).** Integral Solutions of the Cubic Equation with five unknowns  $x^3 + y^3 + u^3 + v^3 = 3t^3$ , *International Journal of Applied Mathematics and Applications* **4**(2) 147-151.

**Gopalan MA, Vidhyalakshmi S and Usharani TR (2012).** On the Cubic Equation with five unknowns  $x^3 + y^3 = z^3 + w^3 + t^2(x + y)$ . *Indian Journal of Sciences* **1**(1) 17-20.

**Mordell LJ (1969).** *Diophantine Equations* (Academic press, London).